
=
=

2.5 Logarithms 
=
mçëáíáîÉ=êÉ~ä=åìãÄÉêëW=ñI=óI=~I=ÅI=â=
k~íìê~ä=åìãÄÉêW=å==
=
=

104. aÉÑáåáíáçå=çÑ=içÖ~êáíÜã=
ñäçÖó ~= =áÑ=~åÇ=çåäó=áÑ= ó~ñ = I= M~ > I= N~ ≠ K=

=
105. MNäçÖ~ = =

=
106. N~äçÖ~ = =

=

107. 




<∞+
>∞−

=
N~áÑ

N~áÑ
MäçÖ~ =

=
108. ( ) óäçÖñäçÖñóäçÖ ~~~ += =

=

109. óäçÖñäçÖ
ó

ñ
äçÖ ~~~ −= =

110. äçÖ (ñ ) åäçÖ~ ñå
~ = =

=

111. äçÖ ñ
å

N
äçÖ ñ ~

å
~ = =

=

112. äçÖ ñ äçÖ Å
äçÖ ~

äçÖ ñ
äçÖ ñ Å ~

Å

Å
~ = = ⋅ I= Å > M I= Å ≠NK=

=
N113. 

äçÖ ~
äçÖ Å

Å
~ = =



=
114. ñäçÖ~~ñ = =

=
115. içÖ~êáíÜã=íç=_~ëÉ=NM=

ñäçÖñäçÖNM = =

=
116. k~íìê~ä=içÖ~êáíÜã=

ñäåñäçÖÉ = I==

ïÜÉêÉ= KTNUOUNUOUKO
â

N
NäáãÉ

â

â
=






 +=

∞→
=

=

117. ñäåQPQOVQKMñäå
NMäå

N
ñäçÖ == =

=

118. ñäçÖPMORURKOñäçÖ
ÉäçÖ

N
ñäå == =

=
=
=
=
=


